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('Howbto Determine the Main Idea)

— A B o :
FOEEN—EXNIERANREEN RS MR ERH PSRRI A EE SR
AEE. I - RERERBEZNNS, BNERRILAERKFBERN PO XMW HEHF
REML, MBRERO.ERETHEM AR—BREME., XEFR, B -MITFRELTF
CREN,MAKMDTHNRAURLA . ARRIFZX—F L,
BRITFHXESEFERZIWER P LBE . BESPLOBRBHXEFBREIE.

. EE RO BE?
X EEY A Amw;s.,ﬁm/\fuﬁzj\wa@%x¢mwmwﬁuamzufzﬁ
BT R, E—”é’ﬁi% me% W;&ésmw isn%ﬁzﬁzwmﬁjm%m
LWMBEERD . b S v
Ek%ﬁ%ﬂ? SIS &%E&Eﬁ WﬁFﬁFB@’U?%ﬁ%L %w mBAMERE
EEREOHOSM.
Egm— ﬂﬁaz.%%%qﬂ%ﬁ%&fﬂ a@mw.@_ - é%’\E#"'ﬁEﬁTYii’:xﬁ%B@ R M

v

- W —AlE 2T had a miserable day; AREHRESAEHUEH: My car wouldn’t start thxs‘.‘;' Y :

. e
morning and T arrived late for an important exam. I’m sure the nervous state I was in wxll af- | o %

fect my grade. To top it off, Julie gave me the cold shoulder.

BAXEEERALIHESAEREHIR. #ﬁ%ﬂﬁ%t&%fi@&&*%ié@i; SRR

ERE.FTHEECHERRERTEXLS. #: <
. Alfrica —The fight. agamst starvatlon in six West African nations is being hampgred by
’ ﬂha ramy deason. Heavy, gams are turnlng the dirt roads into muddy rivers. Relief will have
' to Wwait for a dry speLL whlch séems nowhere in sight. The weather bureau is maintaining si-
Ience for fear of ¢ ‘ausing mcreaged alarm. ¢
ﬁﬁ‘i TEA ’jﬂl?’f&%&.tﬂfﬂ HXERWRBEN, SFEIFE KR ERAE RE G
#ﬁﬂEEﬂBT WERGHER R AE TR, B ER ﬁﬂ%”ﬁﬁlﬂﬁ B B S5 38 o 2 R
J&%ﬁﬂﬁﬂﬂa REBFHABEENRR B FILEEETS TEEXMFRR. 6.
If the wind becomes gusty after a period of calm, you should seck shelter.A The sky
needs careful watching, too. Gradual darkening and ” boiling” clouds quicken your pace.
Lightning and thunder are common enough storm indicators, but few people realize that the

-1.



brightness of the lightning is not nearly as important as the number of lightning flashes. The
signs of an oncoming storm are many, and a person’s life may depend on his ability to inter-
pret them. ’ :
R T B VY R, RIS 2 AR RBHE 2 A, B
Despite the fact that cars from Germany and Japan are flooding the American market,
Ford, General Motors and Chrysler are hiring more workers than ever before. The flood of
cheaper foreigh cars has not cost American auto workers their jobs as some experts predict-
ed. Ford operates as far as Asia, and General Motors is considered Australia’s biggest em-
ployer. Yet GM has 'gt huge American work force and hires hundreds of people every day to
meet the needs of an insatiable society. ~
%Tfﬁ,ﬁ%&ﬁ\iﬂ&ﬁ%ﬁ%lﬂmi Gh), SAMEEFEH BRI ERRE @ G2
ll‘))éﬂﬁﬁ*ﬁﬁ,Ewﬁﬂ*ﬁiﬁ’ﬁ]ﬂfﬁﬁiﬁ—‘/ﬁﬁﬁﬁﬁﬁo'Eﬂ”]#lSﬁﬁlﬁ*’?‘f?ﬁ}ao
#i . . '
Joshua Bingham studied four years at the University of Paris and decided to leave before
his graduation. He transferred to the University of Berlin and graduated with honors. Har-
,vard Law School and later Boston College provided him with an excellent legal background.
He is presently a corporation lawyer in Miami, Florida.
ﬁ&*fﬁﬁ—:/l*ﬁ]?ﬁfﬁiﬁlﬁﬂﬁi'é"lﬂ Jﬁﬁ*lt‘ﬁﬁﬂubkii!ﬁ‘ﬂfﬁiﬁ’ﬁjqjﬁ
Kk, B, HA 08BN Joshua Bingham jve exgellent education. '
DN T in A X2
- B F) YV
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" Coffee is a universal beverage t, f és erve in»cli ferent ways around the world. In Lon-
ap ﬂwl?? et.t;‘-?% ff?i? ?ﬁ? #?Denver , & person

\ {" 'n?'jht add a dash of ketchup. Strips of orange and lemon e;lal, clo
N qin

don, for example, some English

L) .
Vi 1 t
es and cinnamon s icks
not unusual additions to the brew in Eyrope. An Asian delight consists of coffee lw’eg_

—— ,

@n boiling sugar. Perhapw cup of coffee ¢an be enjoyed in Ireland where whiskey

&,v/i nd whipped cream are important ingredients. In Australia a waitress will ask, ” Do you

*@ﬁ wnt black or white?” Black is plain black coffee, but white is half coffee and half warm

%Zfb, milk. If an Australian orders iced coffee, he will be served a cup of steaming coffee with a
) scoop of ice cream. It sounds like the Australian version of a "snowball in hell.”

1. Which sta.ltement best expresses the main idea? ' \I '\/B ‘J’”/ n o M' ‘;%% .
A. The richest cup of coffee can be enjoyed in Ireland.

B. Asians enjoy a sweet cup of coffee.

C. /Coffee is enjoyed in a variety of ways. - ‘ '
}./S\ustralians have an -unusual sense of humor. [ h %/ h * | Q%W‘
2. The paragraph suggests that coffee can be . ’ @ % .

A. expensive ' B. rare
e
C. common D/ exciting

3. The paragraph could be entitled
. 2 - ‘
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A. Some Like It Hot
\Q/Coffee Around the World
C. Oriental Delights
D. A Snowball in Hell ORI
4. Write down the topic senterice. g, '@ j..v“.:i:; R ’1‘& A
(] S
1 C. BEEE. BNTABATHEAFHTRAOBE,
. BAA. TR GUREE S A B R URKE A
DR B ERE R AR MR, B D ARES ), TR ARHE
2. D. REER. E%&%Yﬁ%ﬁ&ﬁ?m%% ﬁ‘i@}‘éﬁ{’ﬁ”ﬁ%ﬁﬂ BEETET AMBEX
A& EAETHRE T E.
A BEEAAE N ERARE SRR R RRERE,
"B mﬁﬁtﬁﬁ%mﬂF%ﬂtKE T_Iﬁﬁﬁ/a BRC, ANBREFNBHRELLH. ﬂﬁﬂ‘l
W% . '

‘,.._
-
y

*’ _,'. ;

'é/% nﬁ%ﬁﬂ‘o

4. Coffee is a universal beverage that is served in different ways around the world.

m. %3] - \
AT 40 B BE T A 3, I N T A AL

Whe work ha,s ed to the point where you feel overw elmed s yofi can take cer-
irst, list all the tasks that must bea(ig and degide w ‘%
ually- see

qulres Immedlate attention. Next, divide the work into separate gxles 50 yogc act

Passage 1 /atgzutgig ulest] A ‘2'%"1 A‘%‘} 3"% ]Lz&gﬂ

tam s to exp

p————
them dxsappear as yi)u\work Yotu will avgid a.feeling of depression if you can see concrete
achievement. Last, assign each tas@a (?értax of time. If you are realistic and allow

) yourself a lm}le exira time for each task, you will find that all the work will be done with

e o spare affﬁ' a‘sense of acce nplish l?&1111 replace the anx1ety jOél £elt at first.
é‘_ Whlch sent,enee best expresses thé main® 1de=a’,&, ' . .

TQuahty work requ;res tlme and patlence
B. The successful’ person rehes upon gobd assxstants : A‘
- C. Discouragement and depression result from overwork
Orgamzatlon saves. txme and energy,.
2. Which 1dea does the paragrar}h deve%op?
A. Time is money.
W Organization produces results.
C. Work is the curse of life.
D. Life is worth living.
3. Which one of these persons probably developed the ideas contained in the paragraph?
: 3

(‘



A. A wmedical doctor. B. An athletic director.
QI' An efficiency expert. D. A concerned parent. ' ,

‘. Write the three words which alert the reader that sentences two, three and five contain

supportmg details. 7‘}‘;

RO EHEE T ke, AETER Rifun |

3 i’j i ht days of guesswork swork and stxcky fingers are gone. {Confectioners have solved the prob— |
M
le m{g idgntily a chocolate s conlents by slﬁle‘g'Ietters atop each plece.‘) For example, a
Ty gresieﬁs va‘gxlla. a large "C” chocolate butter cream, a small "C” ordl

an "
)" orange, a "P" pmeapple, and an "R” raspberry cream. Besides the letter‘clue /ﬁ' ape
e

of a chocolate is also an indicatica of its contents. Creams are round, ¢ ;,a@els square, and

nougats oblong. The ability t¢ interpret a few bhdpes and markings cnables the chocolate
e —n.

lover to select his {avorites with Lonfxdencel m te: PY‘{:/ u. O g I’bm
1. The main idea of the paragraph sucgests that chocolate markings @*L WQb

\& solve a problem for the c= {over. _ @ h., ) ; %. P 3/

B. have always been used. "\

C. are difficult to recognize and interpret. X

D. are more reliable than shapes. \
,2. The main idea alsu ~uggests that

A. confectioners are eager 1o demonstrate their talents.

B. old-fashiored ~hacolates were more attractive than today’s chocolates.

" o ,\(;.‘/ §v ide nq{xgqnon is. 'lmpertam* to t.fir‘se who-ove .ohogo[ateq

: .'(’-

PR .
oo, D. chocolate lovers prefur soft over hard ceaters. e e e . L
' I T SO
3. . The author developq the mam idea by R .o
T R YA : 4 o : e
listing ‘an’ assorlmem of the more popular kinds of chocol #s. . B

\P/cxplammg the xodmp system used by o )nfeé:uoni.b . o

C. solving the problem of chocolate ‘1derﬁ1ﬁcatlon

L. sztisfying the demands of chocolate lovers. B
4. Urderline t‘m’&w g \@r u‘% i o . @4@'3 Mﬁg“k -
rssage 3 ;U}w }#47 ,AL"“R“‘ Fu m‘fc anﬂb ARG s fﬁﬂ
Muthow 7/Jt *qééuajanon have evolve f on the ) ignal and Jungle
gttt i

d. . to the used by astrona he ultimate form of communica-
tion. one that offers exciting possd)llltles, is teleEathy By means other than sensory ‘percep-.
’1_121:1, some people can communicate using r?‘lgn‘vﬁzgi Sila?.‘ \;ﬁ. % ire known fo
possess telepathic powers, but experis arc convmced 1hat te evond the reach
of the average per-on and can be developed through practice and discovery.
1. Which scntence best expresses the main idea?
A. A scientific breakthrough in-communication has enabled space explorition to progress
rapidly.
\}/Future generations may one day communicate by means of telepathy.
o d .



PR
C. Only a few people can communicate by means of telepathy.
D. The best way to develop telepathxcg?\}rias 1sthrough practice.
2. The paragraph explores o e
A. the history of communication. B
., the reality of extrasensory perception.
C. the development of mental disorders.

D. the discoveries of primitive man:

3., Tclepathy is to telephone as
\ﬁ“%\@ mind is to matter.
B. radio is to telegraph.

C. phonograph is to stereo.

D. art is to science. ‘
4. Select a word from the paragraph w}th could serve as a one-word title. mw .
(&%) '
Passage 1 : 1. D 2. B 3. C 4. First, Ne.xt, Last.

Passage 2: 1. A 2. C3. B4. BE—HEFXRT),

Passag? 3.1. B2. B3. A 4. telepathy

.
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(How to Recognize Important Facts and Details)
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E. . Wilson, professor of science, focusks on the cktinction of® various species, on
carth. He estimates that one thousand of the {ive million living species of animals, insects,

05.



| Pl
/ J,;s"bﬂ\k{m[ (] @Zﬁg‘g}_
s/ 3

plants, dnd mosses on earth will die out this year. The single greatest cause; the fast-

-

spreading destruction of tropical fo[ek}s(fnd her y habltats Between now and the year
2000, the extinction rate could swell to ! !pgcl Yes e} hour. "In our own lifetime, ¥ writes
Wilson, ” humanity will suffer an incomparable loss in aesthetic value, practical benefits
from biological research, and environmental stability. #
1. Many living species of animals, insects, plants and mosses on earth died and some more
are dying because '
A. Professor Wilson found the reason
\B)/ their living places have ‘been ruined -f_ ‘ -
C. they died of environmental pollution
D. people cut down more and more tropical forests
2. At what epeed will animals, insects and plants and so on die out by the year 2000?
oo "\A/Ofle species per hour. _ o %'Very fast.

C. One thousand each year . Not mentioned.

e

[(#E]) B
1 WERHRYFHRKEMELERLENERE, M "The single greatest cause: the fast-spread-
ing destruction of tropical forests and other key habitats” — 4 P BT LLB H, KE@E
 EATON BB EIBR, K B, EMAER D, B¥ D AREERE,
2. B A RE] 2000 Fa RS U AEE K4, M "Between now and the year 2000, the
' extinction rate could swell to one species per hour” — & A IR, BERME A,

%3]
T A4S0, FEA S R 16 /b.a \7(3. }6"\ aﬁzk M'{i
Passage 1 )
Worldwide fame burst upon Albert Einstein jon November 7, 1919, when British as-
tronomers announced they had found the first gEEf_ir/m\a_tlgLof Einstein’s general relativity *‘! "a
theory. Einstein had already become known in scientific circles becatise of his two astonish-
ing theories : the special theory y, 'shed in 1905 when he was only twenty-six
and a minor clerk in the Sw1ss¢t:ent ce ; ral theor of i&dvanced
between 1913 and 1915. He was con51dered $O b g!nt{z €T scientists th in 1914 he
was invited to join the prestigious Royal Prussian Academy of Sciences and to become head of
‘the research branch at the Kaiser Wilhelm Institute. He accepted the offer and moved to
Berlin. ‘
1. Why did Einstein become famous on November 7, 19197
A. He announced his general relativity theory. 7
B. He received the Nobel prize.
C. Sc1entlsts were} astomshed by his theory
\I?/Sclentnsts haa concluswe proof of thg: general theory of relativity.
h

en Einstein published his special theory of relativisy, he was employed by
L] 6 L]



WSyviss patent office P<

B. Royal Prussian Academy of Sciences
é] Kaiser Wilhelm Institute
. British Institute of Astronomy

3. Einstein’s general relativity theory was first presented to the scientific community in

1905 % B.
C. 1915 - oMok D 1010
L e ST L 4 G e
HJ{ ads@)r Longfellow’s fancxful peém entitled '@‘ﬂuRe erie’s Ride”, com-
plete cree as ngen to Paul Rﬁ%‘ g alerting the, American wgé’%o\the coming of the

British
corruption of truth, the myth has per51sted
A g S —

"'y,pecause of tbe popularity of .

. B 't

S and thereby for sparki e Revoldfioh War at Lexington. Although an utterl. /
——

the poem.
e

Actually, on tha{fatal (m Ap 1l of I7T%, C@rﬁﬁlan&e‘l‘(}ﬁeﬁh Warre!&s‘znt two young
"men out on horseback to alert the American.Rebels between Boston and Lexmgton that the
British were coming. One was indeed Paul Revere, and the other was William Dawes. In
fact, it was Dawes who rode first, rode longer, and perfcimied” "the Tk be%ter Revere got
sidetracked and was finally captured 'v the Bnt -La?the end of hls ride. ﬁ “s
1. Where did the Revolutionary War gm

A. In Britain. 8/ In Lexmgton.

C. In Rebels. . . In Boston.

2. From your reading of this passage, wﬁich of the following statements is true?

-

A. Although Paul Revere did not rlde as_far as William Dawes, he avoided being cap-
tured. ' '

B. William Dawes rode {irst, but Paul Revere did a better job. ¥

C. William Dawes got lost near the end of his ride.
Paul Revere’s ride was generally inferior to that of William Dawes.

Pa's{Zage 3 . !,;L‘(bl / n.

/ D(a‘ "'m Z modern and the traditional sectors of developing countries, there are many Rigyo
opport nmes or 1mprovmg energy productivity — thatbls y [!} ’51 ch barrel of oil (or ‘
its non-"oil equwalent) perform more services. In urban afe numBer of new ap-

pliances, vehicles, apd factories is growing rap1 close a&ntxo fllb @*
ciency can Jxel a capitai stocllfihat is anreasmgly better a éte )g; RO t- W, ‘% 1/&
Jé”‘? _

high and steadxly rising energy costs a prlc S. ng ue which” conlp
: u Sllz . WA i&ﬁ
tween 30 and 90 percent of all energy tonsu e € op1 countries, can also be made

more efficient.. For example, it takes three to six times more energy to cook a meal with
wood on an open stove than to cook the same meal on a gas range in the United States — al-
. 7
though one should note that the open wood fire may at the same time perform non-cooking
: ‘ o 7 o
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services such as heating and lighting.
1. Where are opportunities for improving energy productivity?
\ In developing countries. N
B. In the United States. '
C. In modern and traditional sectors.
D. On an open stove. ;
2. Which of the following statements is not true‘7 . :

After, 1978 energy costs and prices are hlngL antl con‘emuously m&:reastng.

\ \Bﬁhe"use of-traditional fuel consumed S‘(iﬂ/f’tf)O/ éfau ene{gy mdevelbpmg countries.

Har

C. Cooking a meal wx.th wood on an open stove, needs more energy that cookmg the same

meal on a gas range. \/ B ? A _."~.‘

I A
i,

. D. The open wood fire can be used for cooklng and for. heatmg and llghtmg as well

o N Passage4 /‘m’Qb/ .f‘ J‘g \%\ .

Peler}drs 1&% ] o“f ényr%nméntal*eﬁgmeermg, calls atten-
tion to mass ver?ﬁ/% u%{n% more than half the-world’s people had a per
capita income of less than § 550. If the industrial cSuntries are removed from the computa-
tion, the av?"iff; f} ops to less than $ 160. Professor Rogers sees this disparity‘ as a
a tach

spluttermg the world’s total economy. ”The next decade, ” he writes, "will

h

be crucxa[,m determining whether %s‘nu? the Zéﬁt century will-be worth leaving to our chil-
X ., o MR ' Tow A 7“‘}'/" o ’
dren.” o e e oo " .

|
! -

1. What is the average income, if the industrial co 'r.tries are not taken into consideration?

A. $550. WYy % less than $ 550. .

C. $160. less than & 160.
2. When is this average income figured out?
A. In the 21st century. B. The next decade.
C.,In 1967. ‘ D. 1977.
[EX] ‘ '
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E7,ENRAENEETEEARAHE. AN—XER. AR MARNREIXRENG R, T
22— )\lﬁﬁt*ﬂﬂ?’rATﬂi#%‘Lfﬁ+LIﬁT A - AMAABEz2BE, REXHEH N
REBHARTRE LHET, Yiﬁ)\b&—?—%iﬁﬁﬂ%Fﬁﬂffﬁ%ﬁﬂ%lﬂﬂ’#ﬂ%ﬁTﬁE%E
HH.

S 25 MUK 4 B A A LA BRI B #Uﬁﬁ%uﬁﬁjﬂﬁﬁgﬁﬂiﬂﬁ BEE M
BRACHHANETAE FEREHIEERNEE R IRFX —HIH.

Z R A X ot 4 B 7

BEMHGEFABERARATHEMELRAYWERBENNES HERAMAIR L
XL R S .

B LA T A4 4 3C R B R R AR AT T .

%1 ‘ '

Pollution is a real concern of many people. They are alarmed by the poor quality of air
and water and bothered by people who pollute and don’t c:ire Concerned citizens are pre-
pared to fight the battle against pollution w1th every legal weapon they can use. A fmal solu—'
tion will only come, however, when more cmzens become concerned. '

PSR B RIS Y R LA | 8, YEiR T {5 R BR 2 B 80 i 1Y IR R B, (B g T
“ ﬁ‘%”ﬂ‘]#?ﬂ‘: ﬁﬂ%ﬁ%ﬂﬁ@?’ﬁ%%ﬁ#%ﬁﬂﬂﬁﬂﬂzm BALBASEXHRHW. ME
ﬁE%E‘JﬂJ‘EﬁE%ETE#&WJE ESRE AR/ EHN. "I U T SRR R — ) X B R R D
ﬁ%ﬁ?;‘ﬁfﬁﬂﬁ LEY; %ﬁﬁ—%)\%&%ﬁ Eﬁhﬁi{,ﬁtﬁﬁﬁ#%« ey g

g |

. E.:,." A Th‘a"Sq'ui\h End Nmers are a hlgh spirited amateur baseball team. The team has loyal
fans who turn out in large numbers to cheer the players on to victory. This year, the team
was invited to join the Atlantic Baseball League, an association of many fine semi-pro teams.

[a]: The playing ability of the South End Niners is most likely a

A. average ) B. overrated

C. superior D. extraordmary R

B BREESRC.HTFRABEIEMA semi-pro A RERM IR X —F 3£, BT LR M
A superior BY above- -average BEEHN. %ﬁ_ﬁk)&B’Jﬁﬁl}ﬁ%ﬁlﬁﬂ‘]ﬁiﬁx%ﬁ,ﬁ#“ﬁﬁﬁ
it (overrated) ”, X H & A F 3141 B 72 BA 2 “JE FLAY (extraordinary)”, ’

‘ 230, e B BLAT) %%F‘}5'1”,?“V&%ﬂﬁﬁﬂiﬁkﬂf%%m—%mfﬂi% %F‘ﬁﬂ?
RUBEMARS S, GHZAITEFRER TR B .18 Bz AR LM, EU\M_U/_%
BAFH#% J7 4 HR MV BREA 3B B, AT 4E 84 #I BT . the South End Niners are a superior baseball te#m.

B 3. i
In many factories, working conditions are poor. Workers have to spend eight to nine
hours a day doing boring tasks in dirty surroundings. Cleaner working areas will improve ‘tHe
workérs’ situation, as will better pay. But more thought and planning are needed to create
ideal conditions under which workers can take real pride in their work and obtain satisfaction

from their job.
- 9 -



JA) . What must management consider first?

A. Better pay and benefits.

B. Cleaner working conditions.

C. The worker’s total needs.

D. Both A and B.

: BREERC. AXFRMBHEE, TTHE: Mﬁﬁ%%ﬁlkﬁ@ﬂfﬁ%* T 3
)’C.ﬁ%?ﬁﬂiTﬁﬂﬁl%*ﬁﬁﬂ@lﬁﬂ'iﬁﬂﬁmlﬁmﬁﬁ BH A YN E AR
CRBANERTALEEEROFT R, WA REEMTAERROER, ERABMD 2
FHRA,BYSFIIENELETERMOTER, IX=ABRIREER,

BT LEG TR, BIEE. SRETHEN RREENARAARER . ARERR, B
EMERENFECHESSHREUMNESETEHREN, XREE T H -4 2 3 i
€. 8 E 2 ,understand, evaluate, decide, , \

=350 |
Newspapers do not always report the facts fairly. For example, a newspaper in a south-

ern state may devote very little spacé to an item on lacier injustice. On the other hand, a
newspaper from the Northeast might give wide coverage to race problems in other parts of

the nation and fail to report on local rac1a1 troubles. In this way readers can be misled. They

may be fooled into believing that prejudlce lS a reglonal roblem and fail to realize that rac1s

knows no boundaries. /bWTt n- /ﬂ JJM/ ‘W

1. The careful newspaper reader s ould be aware that
A. most news stories €annot be believed. M ﬂJﬂ .
B. many newspapers attempt to deceive their readers.
C. government control of the news industry is needed.
some newspapers present only one side of the story.
2. The faulty news reporting described in the paragraph is
\A/the exception to general practice.
B. a threat to freedom of the press.
% an insult to journalism.
. a dangerous and widespread abuse. .
3. The reporting policies of. newspapers
A. reflect the needs of the community.
% should support the views of local readers.
. should be under the control of taxpayers.
D. fan be made to serve private interests. ¥
4. Write down the sentence which states what can happen to readers whose judgments are
not based on properly understood and interpreted facts.
(¢ 2D
1. D. REER, 2123(1# wﬁ%?ﬁﬁTﬁfﬂf&Eﬂiﬂmlﬂ@{ﬂ@lﬁT HOCHEX ZAEmME .
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